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TIME & DISTANCE ASSIGNMENT

1. A car travels 60 km with 3 litres of petrol. If the car has to cover the distance

of 200 km, it requires x litres of petrol. Then find x?

@ WHWHH 60 &b HMPHmHE SL&ES 3 LT GULGrmed CohamaulibGHmal.
96 wHWhHa 200 &HB HMPHSmHF Ogamenrwl, Cpemeuwmer GuUL Gymedes
SI61Ta)] X. elafled 'X' £ SHewiL .

a. b5 b.3 c.8 d. 10

2. A motorbike requires 2 litres of petrol to cover 100 kilometers. How many

litres of petrol will be required to cover 250 kilometers?

@f Omasds] eumsald 100 &b OFTmevenand &SLHS 2 ILLT GulGymed
CapemaulibFmaE eele0, 250 &b OHTenevenals &HLHHSH Chemeuwmer 6L Gymed
6161161161T6)] 7

a. 5 litres b. 4 litres c. 6 litres d. 7 litres

3. A train covers a distance of 195 km in 3 hrs. At the same speed, the distance
travelled in 5 hours is
T @guied euewiy 195 HGeombl LT FHMyHend 3 wewll CEIHHed L SHABSHI.
965 Goausdhalev, obd @DJuiled euewiy 5 el GHISHHEL FHLHGW HIJD
a. 195 km b. 325 km c. 390 km d. 975 km

4. A bus covers a distance of 90 km at a uniform speed. Had the speed been 15
km/hour more it would have taken 30 minutes less for the journey. Find the
original speed of the journey.

m Cumbs 90 &5 CeTemevensud Fymen Gousdhdled HLHIFBH. gt GCeusld
15 &8 / wenll oFsfdbsiin’Lmen, uwewr Gpyb 30 MO FBiGeT GBS BRI
aedey, Cupbhbalen CoussHmapd HemISHD [BHSb.

a. 45 km/hr b. 50 km/hr c.55 km/hr d. 60 km/hr

5. A constable is 114 m behind a thief. The constable runs 21 m and the thief 15

m in a minute. In what time will the constable catch the thief?
QM STeUeT, HlLemenr ol 114 15 Ueiemed 2o 6TenmiT. STeuedT HILOL HHMBE
218 GoussHdaid, Hmrer 15 15 CoussHHMID  @QaTTed, SHTEUVT 61616616
CrrsHdHlev SHlpLemetls LlgrimT?
a. 16 min. b. 17 min. c. 18 min. d. 19 min

6. Two trains 121m and 99m long are running in opposite direction, one at the
speed of 40km/hr. The other at the speed of 32km/hr. In what time will

they completely clear off each other from the moment they meet?
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11.

12.

|APP® 11|
12115 peni(pd 99 15 Hen(pd 2 6ol QJewi(h Ljnd euewiigdbel (PpempGuw 40 &b
/ wewfl, 32 &5 / wenll Ceousmisefled aHOTHT Hewasefled @BHAGMar. Sjenal
Q&IIemBOWITEI S5 6lelalene] CoHID SuGb?
a. 10 sec b. 11 sec c. 12sec d. 15 sec

A train 160m long is running at 40km/hr. In how much time will it pass a

platform 140m long?

160 5 men(peTen @ @guiled euewig Wewld@ 40 &5 GCoausdhdHev OFeOH M.
Obd Byuied euemiy 140 15 Hen(peiten (H HeWL GoML DUl HLHF 616161616
GrI IBHHIS CBHT6NTEHLD.

a. 21 seconds b. 22 seconds c. 25 seconds d. 27 seconds

A boat moves downstream at the rate of 1 km in 6 minutes and upstream at

the rate of 1 km in 10 minutes. The speed of current is

BCIM L Hewguled @h ULG 6 BHIOLBESEHHEG | S0 aaim CousdhHed, SHiFHe
agitdengulled 10  HOLBSEHSEG 16156 aam CusdhdHeld  CFSImTeL
BCIM L Saleir Geusld wngh?

a. 2km/hr b. 1Tkm/hr c. 1.5km/hr d. 2.5km/hr

A train 150m long crosses 1756m long platform in 13 seconds. Calculate the

speed of train in km/hr.

150 15 pen(eiten 6@ @guied, 175 16 Hem(welen e HewL CenLenut 13
alpTseied sLbBMH el  Bruieder GCausHmazd & /  wewiuied
& 6301 &I GLD

a. 25 km/hr b. 45 km/hr c. 90 km/hr d. 93 km/hr

A train takes 18 seconds to pass through a platform 162 m long and 15
seconds to pass through another platform 120 m long then the length of the
train in

@m OTLT euemry (train) 162 18 menpsiien HeL GoenLenwt 18  allernTigsemeuild,
120 15 men(peitenn LOBOMT(H HewL G emul 15 allemoseledid &L HHTe0 GIHTLIT
QUG HEITLD 616016017

a.90 m b. 100 m c.110 m d. 120 m

A truck covers a distance of 550 metres in 1 minute whereas a bus covers a
distance of 33 kms in 45 minutes. The ratio of their speeds is

@ oomfl 1 Bl gdHed 550 LT gnydmnsd SL_EHBH. 96k CHriHHed @
Cumpba 45 pbiLmseied 33 &b s L&HBH. SeuBslar CousddHear aldsd
BTG B.

a.2:3 b. 3:4 c.4:5 d. 5:6

A certain distance is covered by a cyclist at a certain speed. If a jogger covers
half the distance in double the time, the ratio of the speed of the jogger to
that of the cyclist is :
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14.

15.

16.

17.

(Aere 0]
mFHPET U BualT @ GURUILL SMTHmed GUUUILL  CrrsHaled SHLsbHBT
LBOBTH FITe OBUT SIFH60 UTH HMTHHH SHIOLBIEG CHIHH6L &L BT
aelled  PBUAHBGHLD mFSHleT @l BuaBBSGHD @BewL Cuuwimer  Cousmigerled
A& H1b?

a.1:2 b.2:1 c.1:4 d.4:1

A boy goes three equal distances, each of length x km, with a speed of y
km/hr, %ykm/ hr and % km/hr respectively. If the total time taken is 1

hour, then x : y is equal to
QH Fmeuet cpSIml FIO SRS (@aldeuTeipib X &Ll Hemb) pedpGur Y

H.5 /e, %y S5/ e iigid %aﬂ.Lﬁ / el eem  GeusdHey

BB DI CorgHsHbd 1 wewll GHJD abHH OHTaIHDBIET 6aled X Y &G
FLOLOTGG).

a.6:13 b.6:23 c.6:31 d.6:37

The speeds of three cars are in the ratio 2 : 3 : 4. The ratio of the times taken
by these cars to travel the same distance is

ety srisefler Cousmiselear aldsmiser woBBw 2 : 3 :4 9063 sHMIsSms
BLHH GBIyl HTTHEHD 61hHH OoTeiend CHISHSHMBeETer algHHD

a.2:3:4 b.4:3:2 c.6:3:6 d.6:4:3

A person has to cover a distance of 6 km in 45 minutes. If he covers one-half
of the distance in two-thirds of the total time; to cover the remaining
distance in the remaining time, his speed (in km/hr) must be

@M BUT 6 &b SMpdmsd 45 pULmselsd sL&H  Gouewi(ld. SeuT LT
HIHMS OidHs CrrdHdled cpeifled Qe UmEG CHISHHed SLHSTT 666D,
BH(P6TTeN  HMTHMS  BH(Ip6ien  CBIHHe0 &L bd  elalalene] GoaussdHed (BH.15 /
oewotl) GlFevev BeuewT(HLD.

a. 6 b. 8 c.12 d. 15

A can complete a journey in 10 hours. He travels first half of the journey at
the rate of 21 km/hr and second half at the rate of 24 km/hr. Find the total
journey in km.

A @m uwesHms 10 wenll CHIHHe0 (WIPSHBBIT. ST (IPHEO LITH LILIGHTSHDS
wenldb@ 21 &b  CousshHdHed, GSFewimeugd uUTHenwl ewlldE 24 &b
GousHFHaud LIWIISHHTT 6eleafled, OLOTSHSH Liulewt HIFD (&).L5)

a. 220 km b. 224 km d. c. 230 km d. 234 km

A is faster than B. A and B each walk 24 km. The sum of their speeds is 7
km/hr and the sum of times taken by them is 14 hours. Then, A's speed is
equal to
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(APP&S LD]

B m ol A Gouswomereu™ A wBmid B @elGeummeurmid 24 &.uS Bl S IIBEIT.
SeuTaeier Gousmibeie dgmBHeo 7 & / wewll WOBHID DUTHET  TIHHS
CamewiL Gpymiseier gnhdHe0 14 wenlCHyD erafled A &1 Gausblomeis).

a.3 km/hr b. 4 km/hr c.5km/hr d.7 km/hr

A man can walk uphill at the rate of Z%km/hr and downhill at the rate of 3 %

km/hr. If the total time required to walk a certain distance and return to the
starting point was 4 hr 36 min then what was the distance walked up the hill
by the man?

@ BUT eneouied Ged GBTH) 2% @ / el CousdhHeid, SPCHTHSD 3%

i / el CausdHHeid BLSEABIT. OHTLHS UsteNuledmbas Gwed Ghrohd)
Ogaip FHmwL Crdsbd 4 wewl CHIL 36 BHIOLD aBHISTT sreled, Ged GCpHToha
ST BLbHSH CFHIB CHTen6v6) 616316017

a. 4 km b.4% km C.5% km d.6%km

A train travels at a speed of 30 km/hr for 12 minutes and at a speed of 45
km/hr for the next 8 minutes. The average speed of the train for this journey
is

@ Syuicotearg 12 PIOL&HBE& 30 & / wal aem CussHad DGHS 8
PO SHBEG 45 & / wenll eem CaussHsdad LwLeNEEBEH. GG S 60
@ywelesr gymar Geussld

a. 30 km/hr b. 36 km/hr c. 37.5 km/hr d. 48 km/hr

A student walks from his house at a speed of 2% km per hour and reaches

his school 6 minutes late. The next day he increases his speed by 1 km per
hour and reaches 6 minutes before school time. How far is the school from
his house?

Q(H  LDTEOTEUGHT  HeT @il 1960  EHHS 2% i/ wewil GoussHHed BLH3S

LeTelenuwl 6 MIOL FIG6T SHTOHIOTE WL B BTeT. DBSHS HrenT euest 1 H.ib /
el  CousdHmd HBUBHH 6 HOLLD (WPSOIHTS LeTelenul SienL Smme.
il 1960 B\(HHIHI LeTalldbaTen OHTeneva| 6l6alaIeTe]?

a. 1E km b. 1§ km C. 2l km d. 2E km
4 4 4 4
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